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(-) (12%) (a) Write the definition of j(n) O(g(n)). (b) Determine whether the following statement

is correct or not by the definition of (a): n logn = O(n )-

'(__)(13%) A stack is-an abstract data type (ADT) with three functions: * 3
(a) stack_init(): make the stack empty, (b) push(val): add the object val, and (c) pop() remove the
most recently added obj ect. Show how to implement a stack using a linked list.

(=)(10%) Given an adjacency matrix repfesentation of a directed graph in Figuré 1, ple'aée draw

this graph. Further, show the adjacency list representation of this graph.

12 3 4 5
10 1 0 00
2111 1 1 1 B
3101 0 0 0
4100 1 0 1
501 0 1 1
Figure 1

(v9)(15%) Devise an algorithm t0 compute the diameter of a tree and analyze the running time 6f

your algorithm.
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(5%)4- 3148 Fd £.50.3 7 (bubble sort) ~ ¥ ik $k A sk (quick sort) 47T 71 10 48 $d &9 R 38 3
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